
■ 上から1けたのがい数に直してから、かけ算をしましょう。(「約」は不要です。)

① 23 × 4169 × =

② 469 × 833 × =

③ 403 × 3461 × =

④ 9495 × 7690 × =

⑤ 51 × 870 × =

⑥ 381 × 158 × =

⑦ 6866 × 237 × =

⑧ 6346 × 4190 × =

⑨ 356 × 5892 × =

⑩ 287 × 76 × =

⑪ 9224 × 53 × =

⑫ 74 × 4633 × =

がい数のかけ算
年 組 名前
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■ 上から1けたのがい数に直してから、かけ算をしましょう。(「約」は不要です。)

① 23 × 4169 20 × 4000 = 80000

実際の答え : 95887

② 469 × 833 500 × 800 = 400000

実際の答え : 390677

③ 403 × 3461 400 × 3000 = 1200000

実際の答え : 1394783

④ 9495 × 7690 9000 × 8000 = 72000000

実際の答え : 73016550

⑤ 51 × 870 50 × 900 = 45000

実際の答え : 44370

⑥ 381 × 158 400 × 200 = 80000

実際の答え : 60198

⑦ 6866 × 237 7000 × 200 = 1400000

実際の答え : 1627242

⑧ 6346 × 4190 6000 × 4000 = 24000000

実際の答え : 26589740

⑨ 356 × 5892 400 × 6000 = 2400000

実際の答え : 2097552

⑩ 287 × 76 300 × 80 = 24000

実際の答え : 21812

⑪ 9224 × 53 9000 × 50 = 450000

実際の答え : 488872

⑫ 74 × 4633 70 × 5000 = 350000

実際の答え : 342842

がい数のかけ算
年 組 名前
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